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Q1 A satellite is placed in a circular orbit with an orbital period of two hours.
Calculate the height of the satellite above sea level and it's velocity in Km/hr.

Q2

a- What are three types of satellite orbits according to their heights?

b- What are three types of satellite orbits according to their inclination?
¢c- Define: apo inclirfzon ascending node, and retrograde orbit.
_.—d- What are the six keplérian orbital elements? d

Q3 An earth station is located in Amman with a latitude of 32° N and a
longitude of 36° E. Calculate the antenna look angles for an Arabsat at 26° E.

Q4 A 6 meters paraboloidal antenna has an illumination efficiency of 60
percent. Calculate the effective aperture, the power gain, and the half power
beamwidth at 12 Gﬁ?ﬁ e =
Dggmwidin at

55
a- What are the three types of losses suffered by a satellite S|gnal when it
passes through earth atmosphere?
b- What are the different types of polarization?
¢- What are the two types of doubie reflector antennas (draw)?
d- Define: the polarization loss, offset feed, isotropic antenna, and cross
polarization discrifmination. T
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